





A) C) D)=(C)/(A) =) ()
F) G)=(F)/(A) =E)+( )
(m3) (m3 (m3) (m3)
114,390 101% 1 9,300 123690
113,250 :

123,690 109% 0 0 123,690

0,
72,042 28,822 40% 5 45777 74,599
32,279 44% 1 42320 74599

0,
112,440 84,233 75% 3 26,090 110,323
110,323 98% 0 0 110,323

0,
46797 30,582 65% 0 0 30582
30,582 65% 0 0 30582

0,
16,880 13,980 83% 1 1500 15480
13,980 83% 1 1500 15480

0,
111 767 95,907 86% 6 29119 125026
125,026 112% 0 0 125026

0,
8,500 8,575 101% 0 0 8,575
8,575 101% 0 0 8,575
838 839 100% 0 0 839
839 100% 0 0 839

0,
20,600 10,857 53% 0 0 10857
10,857 53% 0 0 10857
8850 10,153 115% 1 2,050 12,203
' 12,203 138% 0 0 12,203

0,
11,690 13,438 115% 0 0 13438
13,438 115% 0 0 13438

0,
17836 29,078 163% 1 2850 31,928
31,928 179% 0 0 31,928

0,
6.303 7 5,365 85% 1 940 6,305
8 6,305 100% 0 0 6,305

0,
5,500 5 3,425 62% 0 0 3,425
5 3,425 62% 0 0 3,425

0,
6.365 2 6,200 97% 0 0 6,200
2 6,200 97% 0 0 6,200
188 2 3,328 422% 0 0 3,328
2 3,328 422% 0 0 3,328
650 4 1,007 155% 0 0 1,007
4 1,007 155% 0 0 1,007
70 2 352 130% 0 0 352
2 352 130% 0 0 352
2100 2 1,207 57% 2 1,400 2,607
' 4 2,607 124% 0 0 2,607

0,
32,465 26 20,482 63% 0 0 20482
26 20,482 63% 0 0 20482
29526 31 42516 144% 1 2850 45,366
' 32 45366 154% 0 0 45366

0,
564,366 461,738 820% 21 119,026 580,764
536,944 95% 2 43820 580,764
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